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Seat No.:| =]

féijttj\iEP‘””gvxae?:&“{ﬁéARCH - 2022 (Summer session) Examination

Subject Code: 73417
(Ferearei=it g1 ferwa = OMR =X @@/ Student should fill this code on OMR sheet)
Subject Name: B. A.(Semester)_73417_62317/73417/78817 - Social Ecology-11_05.08.2022_10.00 AM

Date: 05-08-2022 Time: 10:00:00 to 11:00:00

QP Code: 9608QP (Brcom - Se\ ~N )

Total Marks : 50 Each Question 2 Marks, Total 25 Ques, Duration 1 Hr

1. b BT feaq Smferes wataror i w=guE 9 &et sat., The ......... day, observed as a world
environment day

a. 11,11 July b. 23 @TH.,23 March

c. 21 g, 21 November d. 55,5 June

2. WRATA AT BIBETET coeeenenneeereesecsnnanes % 3TTg., The tribal populatio-n in India is

a.13%.,13% b. 7.5%.,7.5%

c. 25%.,25% d. TRt et ardeRt et

3. 7@ ATfOr SI1g i e, gufxt 999 a19dl., The taboo and magic are related with ......

a. aTTfeart., Tribal b. 3mYfe.,Modern

¢, 9id., Advanced d. af%e., Universal

4, HEITITATD <overcrseneessonesssrsansen 2 9< gax fowror ang., The .......... Place of cool air in [ %

Maharashtra f
a. 37eet., Amboli b. TWHETEET, Gaganbawada  \P W
c. Aigleis%R.,Mahabaleshwar d. o et None of the above oo
5. gaute HH 9HI0T ... T ™A 3@ed., Less conflict noticed in ...... habitation.

a. L., Urban b. AT, Rural

c. 3{iefiep.  Industrial d. ST, Caste

6. ATET SIS =] 99 . ..... ggTgdiz Gafera amg., The problem of ‘slum’ is mostly

associated with .... Settlement

a. ATHIOT, ,Rural b. AR, Urban

¢. enfeardt., Tribal d. ardeht 7@l None of the above

7. BTk IYTEd T AGH™ 1@l Agriculture is not the occupation of ....... Settlement
a. ATHIOT. Rural b. AFT.,Urban

c. @rfen., Local d. amdeht @t None of the above

8. Wiaia dl AT . ....... f&epoft stresd., According to the 2011 census, India has a
Population of ..... Crore

a. ATHIOT ST, Rural Settlement b. IR F&IIM., Urban Settlement

1 of 3 8/5/2022 9:36 AM



file:///C:/DOCUME~1/KAMALA~1/LOCALS~1/Temp/Rar$EX10...

c. 3Nfeart a&ite ., Tribal Settlement d. arteht et None of the above
9. 2011 =T TUHTHR WRATH! BIHHET oevvvaeees It gaeh! 31Tg.,According to the 2011 census,
India has a Population of ..... Crore '
a. 84.,84 b.121..121
¢.140.,140 d.102.,102
10. HTI'TEITUI'I% E LI ERe e i - SRR 3 9 YR aed., Two Type of environment
are naturel environment and ...... environment
_ ‘a.zmﬁlﬂi,’Social b. 31f¥feh.,Economical

c. Hitepicehy, Cultural d. ISR, Political
11. GETHTRTNS |Tae 10 e RAo) Sreavars H....... g HA@L,..e.n...... Air works to block
the harmful ultraviolet rays of sunlight
a. FESHE eSS, Carbon dioxide b. 3115H.,0zone .
c. graghei., Hydrogen d. fA9.,Methane
12. STATEROMS SN AL FAT weveerreeereeeerneennnes T IO 3<al.,An Ozone in the
atmosphere causes the depletion of gases ...... gas
a. /49, ,Methane b. AEEH AfFATES.  Nitrous Oxide
c. FHRIFIA &E4.,Clorofluro Carbon d. FHETSM ATeTsS.,Carbon dioxide
13 o . FHATHTHE QTS TiazitedT 3If¥e 3edd., ... ..........In habitation, the social
mobility found more
a. ITHIOT. Rural b. AL, Urban

-+ c. 3Tfeart., Tribal d. amdeht T, ,None of the above
14. FEASEAFEST .......... Teh STHEIT 3R, ,.ee e Is one of the sources of carbon dioxide
a. shiedl., Coal b. A, Agriculture
c. 5THH.,Land d. ardeht 91et.,None of the above .
15. G Bl..eeee.. ST = AT 379al., Dormitories is a part of ...... settlement.
a. 7., Urban b. 2nfeardt., Tribal
c. arHtor., Rural d. ardeht AT, None of the above
16. SATATE SOft T ......... gdTgdia @&y 3 #Xd., The caste hierarchy decides the nature of
....... settlement.
a. SATfeamdt. , Tribal b. @if.,Local
c. ITHIuT., Rural d. =g4.,Urban
17. Human Ecology 8T 3= ......... it 19T, The term human ecology is used by ...............
a. S Tk 37O 3tieeantd., Robert Park and Ernest Burgess  b. T =S, Ellen Richard
c. ARfer €13 F F 3.1, Borkin D.B. & Keller E.A. d. AT IReS., Marten Gerald
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18. 'Sanitation in Daily Life' § & ......... i+t fofgs., 'Sanitation in Daily Life' this book
was written by ......ceuee

a. AT TRIes., Marten Gerald b. te= €., Ellen Richard

c. {I¢ UTeh.,Robert Park d. 31 &74.,Ernest Burgess

19. SITTfdres ATYHTT Teh........ HHHT 3Mg.,Global warming is a ....... Problem.

a. g, National b. =M., Local

c. Wt Universal d. a1efiie.,Regional

20 ST ATAEM........ FHIRT 3Ry eeneeee Is one of the causes of global warming?

a; El'ﬁjc;f%ﬁ FaY.,Family relations b. Safger ¥, Marital relations

¢. 3Nk il Industrial revolution d. arteht @Y. None of the above

21. FAREE FHEET T BUA.......ce 71 fXa@ 919 %e1 Srat., The day .......... Observed as an

. ‘International Population Day’

a. 55.,5thJune b. 8 AT=.,8th March
e Gﬁi.,llth July d. 10 f&8sx.,10th December
22, WRATHT SR AT TTAATT ST 2evvererrivereeeessssesanns #Hi% &Il In Population India
ranks in the world ............
a. ga.,2th b. &, 3ed
c. afgen; 1st d. 9r=rEt., 5th
533.. 0. T WA BIGHET ATEIET AT "aifds 3., The Type of shifting cultivation generally
found in ....
a. 3TTRMAT., Ashia b. 3TR AR, South America
c. gi.,Europe d. BJT'@Q.‘\%‘QT.,AustraIia
o 24. covverennn.. B1 A1Y FRATE 91 ATEL,........... This gas is not a greenhouse gas
a. FE-STT ATFTES.,Carbon dioxide b. 3fffeasi.,Oxygen
c. 899, ,Methane d. CFC.,CFC
25. FTATEROET gRATE TRUMH .o it YA Fe@l., The greenhouse effect of
the atmosphere was discovered by....
a. ST WA, Joseph Fourier b. 3TR. %. U=, R.K. Pachauri
c. 3., Henry d. =1e ftex,Karl Ritter
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